Examples:

Electrician 1 retired in March 1998 at $40.00 per credit. He
had a little over 37 credits in PENSION PLAN #2. His

current monthly benefit is a little over $1500.00. After this
increase his monthly check will be about $2060.00 (37.5%)

Electrician 2 retired in June 2004 at $50.00 per credit. He
had a little over 38 credits in PENSION PLAN #2. His
current monthly benefit is a little over $1900.00. After this
increase his monthly check will be about $2100.00 (10%)

Electrician 3 retired in July 1994 at $35.00 per credit. He
had a little over 43 credits in PENSION PLAN #2. When he
passed away in November 2016 his monthly benefit was a
little over $1700.00 per month. His widow will see an
increase of 37.5% per month because we will use his
retirement date. Her increase will be approximately
$600.00 per month.




